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MACRO ECONOMICS

Paper–205

(Semester–II)

Time : Three Hours] [Maximum Marks : 70

Note : Attempt two questions each from Section A & B carrying
10 marks each. Attempt any ten short answer type
questions from Section C carrying 3 marks each.

SECTION—A

I. What is macro-economics? Discuss interdependence between
micro- and macro-economics. Write limitations of macro-
economics.

II. Examine critically the classical theory of income and
employment.

III. Define National income. Discuss income method of measure
national income. What precautions need to be taken in this
method?
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IV. (a) Explain Say’s law of market.

(b) The following is the information from the national income
accounts for a hypothetical country :

GDP Rs. 6,000.00, Gross Investment Rs. 800.00, Net
Investment Rs. 200.00, Consumption Rs. 4,000.00, Govt.
purchases of goods & services Rs. 1,100.00, Govt.
Budget Surplus Rs. 30.00. Determine : (i) NDP
(ii) Net exports (iii) Govt. taxes minus transfers
(iv) Disposable personal income (v) Personal Saving.

5+5

SECTION—B

V. What is the relationship between the marginal and average
propensity to consume in the standard Keynesian consumption
function?

VI. “Inflation is an excess of aggregate demand over aggregate
supply.” Discuss this statement and analyze the factors
which cause inflation.

VII. Discuss the Objective and Subjective factors determining
Consumption function.

VIII. Define Investment. Discuss types of Investment. Explain
different determinants of Investment.
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SECTION—C

(Compulsory Question)

IX. Write short notes on any ten of the following :

1. Discuss the concept of national income.

2. The average propensity to consume in a country is
0.75 and the marginal propensity to consume is 0.8.
What is the value of the multiplier?

3. Define Marginal Propensity to consume.

4. Differentiate between Accelerator and Multiplier.

5. Define aggregate supply price.

6. Write determinants of marginal efficiency of capital.

7. Define average propensity to consume.

8. Write assumptions of Say’s law of markets.

9. Define full employment.

10. Define disposable income.

11. Explain psychological law of consumption.

12. Calculate the value of multiplier if MPC = 12  and 34 .
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PUNJABI VERSION

not : Bwg A Aqy B ivcoN do-do pRSn kro[ hryk pRSn dy
10 AMk hn[ Bwg C ivcly koeI ds sMKyp au~qr vwly
pRSn kro[ hryk pRSn dy 3 AMk hn[

Bwg—A

I. smStI ArQ-Swsqr kI hY? ivAStI Aqy smStI
ArQ-Swsqr ivc AMqr-inrBrqw dI crcw kro[ smStI
ArQ-Swsqr dIAW sImwvW ilKo[

II. Awmdn Aqy ruzgwr dy klwsIkl isDWq dw Awlocnwqmk
inrIKx kro[

III. rwStrI Awmdn dI pirBwSw idE[ rwStrI Awmdn nUM
mwpx dI Awmdn ivDI dI crcw kro[ ies ivDI ivc
ikhVIAW swvDwnIAW lYx dI loV hY?

IV. (a) syAj mwrkIt dy inXm dI ivAwiKAw kro[

(b) iek mnoklipq ivcwrW 'qy ADwirq (Hypothetical)

dyS leI rwStrI Awmdn ihswb-ikqwb qoN hyT
ilKI sUcnw hY :

GDP 6,000.00 rupey, kul invyS 800.00 rupey, Su`D
invyS 200.00 rupey, aupBog 4,000.00 rupey, vsqUAW
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Aqy syvwvW dI srkwrI KrId 1,100.00 rupey, srkwrI
bjt bcq 30.00 rupey[ insicq kro : (i) NDP

(ii) Su`D inrXwq (iii) qbwdlw Gtw ky srkwrI tYks
(iv) inptwrwXog injI Awmdn (v) injI bcq[

5+5

Bwg—B

V. stYNfrf kyNnjIAn aupBog PMkSn ivc aupBog dI sImWq
Aqy AOsq pRivrqI ivc kI sbMD hY?

VI. “mudrw PYlwA eykIikRq (Aggregate) pUrqI 'qy eykIikRq
mMg dI bhuqwq hY[” ies kQn dI crcw kro Aqy q`qW
dw ivSlySx kro ijhVy mudrw-PYlwA dw kwrn hn[

VII. aupBog kwrj insicq krn vwly bwhrmuKI Aqy AMqrmuKI
q`qW dI crcw kro[

VIII. invyS dI pirBwSw idE[ invyS dIAW iksmW dI crcw
kro[ invyS dy v`K-v`K inrnwiekW dI ivAwiKAw kro[

Bwg—C

(lwzmI pRSn)

IX. iksy ds BwgW 'qy sMKyp not ilKo :

1. rwStrI Awmdn dI Dwrnw dI crcw kro[
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2. iek dyS ivc aupBog dI AOsq pRivrqI 0.75 hY
Aqy aupBog dI sImWq pRivrqI 0.8 hY[ guxk dw
kI mu`l hY?

3. aupBog dI sImWq pRivrqI dI pirBwSw idE[

4. gqIvrDk Aqy guxk ivc AMqr sp`St kro[

5. eykIikRq pUrqI kImq dI pirBwSw idE[

6. pUMjI dI sImWq kwrj-kuSlqw dy inrnwiek ilKo[

7. aupBog dI AOsq pRivrqI dI pirBwSw idE[

8. syA dy mwrkItW dy inXm dIAW mwnqwvW ilKo[

9. pUrn ruzgwr dI pirBwSw idE[

10. inptwrwXog Awmdn dI pirBwSw idE[

11. aupBog dy mnoivigAwnk inXm dI ivAwiKAw
kro[

12. jy MPC = 12  Aqy 3
4 , qW guxk dw mu`l ihswb

lwE[

——————


